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Do you know that... ? Have you ever heard that...?
O HFEDUHEBREUHAT LRI
According to the graph, ... From this chart, ... This graph shows ...

You can see here that ... Bigger pie shows ... This pie chart is about ...
Smaller pie means ... In 1998, ... On the other hand, in 2023, ...
In the past, ... while(whereas) now, ...
O HEOELZLRTHRH
(1) Z{bDJ5H
rise / increase / fall / decrease/ remain the same
(2) ZA O - £48
remarkably / rapidly / significantly / gradually / slowly / by ~percentage points /
from~to...percent
(3) ZfbzRT AT ATERIL “in” ( “of” TIX7Z2WY)

change ~ DA

increase / rise / growth ~ D

decrease / fall / decline / drop +  “in” ~ DY

progress / advances ~DHEH

revolution / innovation(s) ~ DY
(4) FrH

from~to ... / between A and B
O MEROJFKFH &k~ 2 KB
It is because... The reason why this happens is that ...
In my opinion, the reason why... is that ...
O HHEZI2 DM ZE R ~D LD
According to recent news, ... Theard that ...
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From this graph, you can understand that--- /  This bar graph is about ---.
In 2023---. /  On the other hand, in 1953, ---

I think the reason why**-is -*. / In my opinion, the reason why---is that---.
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This shows that--- /  This pie chart is about ---.
Bigger pie shows --- /  Smaller pie means ---

—1 =

It is because---.
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According to the graph--- / These three bars are about--- / You can see here that---

In1963--- / On the other hand, in 1993, --- / And in 2023,--- in the end.

i

The reason why this happens is that-** / According to the recent news, I heard that- - -.

100

"~ |in 1963 in 1993 in 2023

From 2007 to 2008, --- has been remarkably increasing.

-

From 2008 to 2009, there is a huge drop in ---. Why do you think this happened?

e

From 2010 to 2012, --- has been rising by 30 point. This happened mainly because---.

T R

All in all, though there is a certain drop from 2008 to 2009, --- has been steadily increased
over the last 5 years by 20 percent.

2006 2007 2008 2004 2010 2011 2012 2013
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Performance Test (Speaking / Description)

Evaluation Sheet

Criteria Value
Proper usage of vocabulary
Fair (1) Very Good (3) Excellent (5)
and expression / clear voice
Ability to think, judge, and
Fair (1) Very Good (3) Excellent (5)
express themselves
Attitude toward
Fair (1) Very Good (3) Excellent (5)
proactive learning
Comments:
NAME: GRADE: CLASS: NUMBER:
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Do you know that Hokkaido is aging, and it is aging faster than all over Japan? According to this graph,
Hokkaido is more serious than all over Japan in terms of the rate of elderly population. Of course population
aging rate all over Japan itself is already serious issue though. Both of the elderly population in Hokkaido and
all over Japan are steadily increasing between 2000 and 2045. In 2045, 36.8% of people in Japan will be over
65, which is already a serious problem, but at that time, 42.8% of people in Hokkaido will be over 65. The gap
in 2045 is 6 points and the gap will be widening year by year from 2000, when the gap was just 0.8 paint.

In my opinion, why this happens is that people do not give birth to their children. The birthrate has been
sharply decreasing since 1960s and its rate is well below 1.5 now, which increases the rate of elderly
population both in Hokkaido and all over Japan. I heard that Sapporo is called “Silver City” which means that
the elderly accounts for large portion of this city’s population as a whole. This word gives me an impression

that the city is “covered with” the elderly, and it makes this situation sound serious.

BEE OFFFESCRAZWUNHE NN S, [ElEbEo B 12045 F£odbiE L 2EO %] O 2
DORA Y MM, FEE o LBy, TEE & 2EOZED 45 FEFTORNY | 122N THPIL
TWAHZ e, F2, EHRMO LB EOEAINMED D X HMET DIERE T INZ 720 65
L<BRTWAHZ D, £2TOBART la) EFMLE,

[%12]

Have you heard that Hokkaido is becoming aging society, and its speed is faster than that of all over
Japan? This graph shows that population aging rate of Hokkaido and Japan are increase and that of Hokkaido
is skyrocketing. In 2045, 36.8% of people in Japan is over 65, which is already a serious problem, but at that
time, 42.8% of people in Hokkaido will be over 65.

The reason why this happens is that fewer and fewer people are not given birth to their children. The
birthrate is sharply decreasing since 1960s and its rate is well below 1.5 now, which lead to increase the
elderly population rate both in Hokkaido and all over Japan.

PREIZ KR DI W SHEZE DRV 1IN O0nd b8, [E R0 B 12045 FodbigE & 2 E
DE] D2ODRA L bEBITFTCHBALTWAZE, /2, HIRAZEBRXTWAZ R YN, 2T
OBST by EFMEIL7=,

[%13]

Are you hear that Hokkaido is aging, and fast? This graph shows that Hokkaido is aging.
The reason why that little people give children. The birthrate decreasing. And increase the elderly
population rate in Hokkaido.

PRIEIC KBNS 5 SEEDR Y N2 b, Fi2, TEEbERO LR 150K A L
FTWRWNWZ 2R ENS, 2TOHET le) LFMEL 7=,
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